1.

ERR30MESY v R XK 15
HXATF 4 < e _ PATRIEE
T'Ebfﬁ O ke E m w A ey ngiﬁﬁﬁuﬁﬁ%ﬁ {ff R
| FEETEE b R ’ | ’ ’ ’ ’ ’
1 JREEEARIYEMERO T RE | — | BEH |7 bk e e T e
HEEATRRR X 0 Lo s
2 EREEIA O 50 | 1.1 |7 bR LI e YA
AT LA K
1 RERBEHE PN 0 B A X —ot 1oE 9.4  —|  —
2 _ERELIAF DR 50 | 11| 12 12 20 20
AR P NEkEE|Es: 1 50 OO i = o = =
T LR P
1 RRIR B o f= ]l X — 8.8 100 —| —
2 EEEEU o 50 | 1.0|F 1if 13 20 20
BT RT 2 A b X
1 JREGEERRLOEMEROT RE | — | B8 |77 bk BT M3 b T L v
HEEATRRR X 0 Lo s
2 _LRRLA oo HhEk 50 1. 1 |77 B HET R ¥ e T b #E
AT LA (X Ik
1 REEHRBAI N O 2 A i 9.0 100 —| -
2 _ERCEA Ot 50 | L.O|% 1o 13 20 20
FIE R A (ke |1 50 OO i = i = =
T LR I
1 SRR o 2 Tl X —d 7o 9.4 —| —
2 kRERLASh o Mt 50 | L1|f 8.7 1t 200 20
W A R R BT P 0D B I —t 8. Tl 11— —
ERCEASS D 50 | 11| 1o 17 284 28
3| il F AR BT P o A M ROk el 8. 7pE 100 | —
RERLIA O I 50 | Lol|f 1of 17F o8 28
i [ERca A — | BEAR (7 L YT BT L T LY
AT AR K ek
1 RN o B A O —J#ti 8.8r’@ u - -




SAZ304 53 s ® K °H
HXATF 4 < e _ STRLEE
S (TR wass @M m oW g [P ACEERTEECEA RS
7| fEH 2 BREELSOHUS 50% 1.1%43 1?)43 1§EP 2§t|: zfs i
z| BRM1~4TH BNy — | BEAR (T LE T b L T L
| KH fr SR LIS PN oD f P L Bk — i 8.6L*‘E 3 - -
LIS o i 50 | Lo|f 10f 199 26 26
RFE o SR LI PR oD f P B XU —Ft oo A 13 | —
EELIA 0 i 50 | Lol 9.9 19 28 26
] Uy AL P
1 B — | BRAR [T L b 2T e e b
2 LRI o Hitk 50 1. 2 |7 EL HET LY Fe AT b 4
TR b A X
1 FREEIRG R o B T —Ft 8. 8B 11 | —
2 _EFLSh oM 50 | L1|F 10F 17F 28F 28
7 Bt Bt — | B (T LT b Y e T P
et R S TR IR PN oD 2 P B X B —l 8. TR 12— —
EFRLIA O it 50 | L1|F 10 18+ 26 26
x| HE [EicRlAEe:
1 SRR M — | B |7 Sk HET H HET e HE b EE
2 LRERIAh oD ey 50 OO i = i = =
A LA KR
1 BREEIREME P 0D B T i —d 7.9 9.0 —| —
2 kRERLASh o Mt 50 | 1.1 (% 8. 1fr 18+ 26t 26
Il HR ek AEz — | BRMR (7 Lk T E T L M b e
AL [R5
1 BEEEREHIE P o A K0 ot 8.0 9.2 —|  —
2 ELS o 50 | L1 8 1f 1979 28 26
| #1E [iskcaRAre: — | BEAR (7 L YT BT L T LY
AT AR K ek
1 RN o B A O —J#ti 7.5 —




SAZ304 53 s ® K 3E
AT : W _ UATIRISE
S (TR wass @M m oW g [P ACEERTEECEA RS
&| HE 2 kRS OHIK 50% 1.1%43 9.§EP 1§EP 1%: 1f7 i
[CR=E T b Kk
1 BRFR A — | B&HR (v b T P L Y bR
2 VST LEMH 50 | 1.2 | aET K b v b
3 FERLS o 50 | 1.1 |7 YT H YT e YR L T
AT AR K ek
1 §§42%%w\ﬁEMEEMﬁ%
(1) REREHIEA o 5 M i ik —t 7. 500 6,20 —| —
(2) ERELS U 50 | L.2|f 9.3f 131 16t 1§
2 EEEEU o
(1) FZEdeml e A o 5 A i Ik —E 7. 500 6.2 — —
(2) ERFEECASDHUR 50 | L.1|F 9.3F 131 164 1§
o L K 50 | 1.2 |7 LT b HE L T e T
AL A X Ik
1 EEERE M o B XK —#f 8. ofl 11 — —
2 _EELISko M 50 | L1|f 8. 1fb 201 28h 28
FTET IR A S TR LR
1 B — | BB (i T P B b Y b
2 LRELU o 50 | 1.2 Fﬁthfé[n;ttfﬁrﬁtti’éﬁttﬁ
T A g
1 RIS o B2 T K I —ht 8.8 11 | —
2 _EFLSh oM 50 | L1|F 10F 18F 28+ 28
HAR2 - 3TH |2 — | B (T LT P b M P
HTRTIE R et — | BEHR (T PR HERT P HET S e v
Ll &LEBHITH DEkEaR (=% — | B (AL HERT HL e H e HL T
AT LR IR 50 | L1|h 1opF 17h 28 28
LED3ITH £t — | BHR | Sk HERT H e B ME T B T
il [k AES: 1 50 | 1.1 |77 bl HET B HE B HEAT B E




R30Sy i = X 1H
HXATF 4 < e NG
e R ks @ A o w4 [P PEEERTIBEITOGES
% e & & «g 7 #
(E i AL b
1 BEEREUIEL P o B A X —l 6.3 9.3 —| —
2 LELISl o 50 | L2|f 7.8d 18d 17 17
M EE2~4TH Eein — | B&#R [ bl BT b T b T b 0
sy = P 2 AR B 355 PR D JE Rt DX —#l 7. 6L\'*E 9.3 — -
EELIA 0 i 50 | L1 8. 19 17 17
K| B i S i L L ) o f D o —t 9.5l 13— —
EFRLIA o Hitkek 50 | 1.1|% 10 18+t 26 26
Dl BIA o R BRLHIER PN oD o P L 3 —btoo. 50 13 | —
EELIA O Hi 50 | L1|H 10d 18# 26 26
o BE b E IRk — | BRHR (v HE Y e M b T
A AR K
1 REERE MG o 2 DO —f4ti 8.4 8.8  —| —
2 RECEAh oot 50 | L.1|% 8.5 184 26 26




